Ratio and Proportion
Exercise 8B

Q1

Answer :

We have:

Product of the extremes = 30 x 60 = 1800
Product of the means = 40 x 45 = 1800
Product of extremes = Product of means

Hence, 3040 = 45160

Q2

Answer:

We have:

Product of the extremes =36 x 7 = 252

Product of the means = 49 x 6 =294

Product of the extremes 7 Product of the means

Hence, 36, 49, 6 and 7 are not in proportion.

Q3

Answer:

Product of the extremes = 2 x 27 =54
Product of the means =9 » x = 9x

Since2:9
Product of
=54 =
C=2Xx=6

Q4



Answer:

Product of the extremes = 8 x 35 =280
Product of the means =16 X x = 16x

Since 8 - x 16 © 35, we have:

Product of the extremes = Product of the means
= 280 =16x

=x=175

Q5

Answer:

Product of the extremes = x x 60 = 60x
Product of the means = 35 x 48 = 1680

Since x - 35 - 48 - B0, we have:

Product of the extremes = Product of the means
= 60x= 1680

= x=28

Qo6

Answer :

(i) Let the fourth proportional be x.
Then 8:36 6 X%

8xx =36 x 6 [Product of extremes = Produ
= Bx =216

=x=27

Hence, the fourth proportional is 27. ‘

(i) Let the fourth proportional be x. \ (}
mx@udud of means]

&

Then, 5:7 30 x

=25 xzr=7%x30 RialPr

= 8x =216 Q

= 5x =210 <§§

@g‘s’s
N

=x=42
O

(iii) Let the fo
Then. 28 xx =1

- 8x=216 &g
=28x=49 %

[Product of extremes = Product of means]

=x=17.5
Hence, the fourth proportional i€17.5.

Q7

Answer:

36, 54 and x are in continued proportion.
Then, 36 .54 - 54 1 x
=36 x # =54 x b4 [Product of extremes = Product of means]

= 36x = 2916
=X=81

Q8



Answer:

27, 36 and x are in continued proportion.

Then, 27 - 36 236 - x

= 27X = 36 %36 [Product of extremes = Product of means]
= 27x=1296

= x=48

Hence, the value of x is 48.

Q9

Answer :

() Suppose that x is the third proportional to 8 and 12.

Then, &:12 212 :x

=8 xzr =12 x 12 (Product of extremes = Product of means )
= 8x =144

=x=18

Hence, the required third proportional is 18.

(ii) Suppose that x is the third proportional to 12 and 18.

Then, 12 :18 218 . x

=12 x ¢ = 18 x 18 (Product of extremes = Product of means )
= 12x =324

=x=27

Hence, the third proportional is 27.

(ii) Suppose that x is the third proportional to 4.5 and 6. @
Then, 45 : 6.6 x
ct of means )

=45 xx=606 x 6 {Product
= 4.5x =736

=x=8

Hence, the third proportional is 8.

Q10

Q;&»

1 Ii[ﬂdud of extn §= Product of means)
a &°

Answer:

(i) Suppose that x is the mean proportional.

Then, 6 :x:x:24

=6x 2=z xzx (Product of extremes = Product of means)
=g = 144

=x=12

Hence, the mean proportional to 6 and 24 is 12.

(i) Suppose that x is the mean proportional.

Then, 3 x = x:27

=3I x 2T =z x=z (Product of extremes =Product of means)
=z? = 81
=x=9

Hence, the mean proportional to 3 and 27 is 9.



(i) Suppose that x is the mean proportional.

Then, 04 :x:x:09

=04 x00=zxzx (Product of extremes =Product of means)
=22 = 0.36
=x=06

Hence, the mean proportional to 0.4 and 0.9 is 0.6.

Q12

Answer :

Suppose that the number is x.
Then, (5+x) (9+x) = (T+x):(12+X)

= (5 + z) x(12+z) =9 +z) x(7T+x)
(Product of extremes — Product of means)

=60 +52 + 122 +a°> =63 + 0z + Te + z°
=60 + 17z = 63 + 16z
=r =3

Hence, 3 must be added to each of the numbers: 5, 9, 7 and 12, to get the numbers which are in
proportion.

Q13

Answer:

Suppose that x is the number that is to be subtracted.
Then, (10 - x) 1 (12 - x) = (19 - x) - (24 - x)

= (10— @) x (24 — z) = (12 — @) = (19
(Product of extremes — Product of‘meaysﬁ A
=240 — 10z — 24z + 22 — 298 — 12z — 10z +
=240 — 3z = 228 — 31z 3
=3z —12 Vo \

® . \OAFR:
Hence, 4 must be SI}mracteﬂ f[om‘ééi:n of the U&bers: 10, 12, 19 and 24, to get the numbers which
are in proportion. } ¥ a3 \&/
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Q14 NPTy &
Answer: <Q\Q
Distance represented by 1 (%%n the map = 5000000 cm = 50 km

Distance represented by 3 cm on the map =50 »x 4 km = 200 km

= The actual distance is 200 km.

Q15

Answer :

(Height of tree) : (height of its shadow) = (height of the pole) : (height of its shadow)
Suppose that the height of pole is x cm.

Then 6:8=x:20

=x=22 =15

~ Height of the pole = 15 cm



